Multiplication et Division par 10" (G)

Trouvez chaque produit ou quotient.

2,198 x 10 = 4,129 = 10 =
6,0543 + 10 = 7,5 % 101 =
2,3428 + 10! = 9,9196 = 10 =
9,6704 +~ 10 = 3,3+ 10'=
2,8+ 10 = 3,11 x 10! =
1,662 +~ 10 = 8,354 ~ 101 =
7,0198 x 10" = 31+ 10" =
6,1+ 101 = 7,81+ 10* =
8,125 + 10" = 9,9955 + 10 =
3,5+ 10 = 8,33 x 10! =
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Multiplication et Division par 10" (G) Solutions

Trouvez chaque produit ou quotient.

2,198 x 10 = 21,98

6,0543 + 10* = 0,60543

2,3428 + 10* = 0,23428

9,6704 = 10" = 0,96704

2,8+10'=0,28

1,662 + 10' = 0,1662

7,0198 x 10' = 70,198

6,1 +10'=0,61

8,125 + 10 =0,8125

3,5+ 10'=0,35

4,129 + 10'=0,4129

7,5x 10 =75

9,9196 =+ 10 = 0,99196

3,3+10'=10,33

3,11 x 10 = 31,1

8,354 +~ 10' = 0,8354

3,1+10'=0,31

7,81 + 10 = 0,781

9,9955 + 10" = 0,99955

8,33 x 10' = 83,3
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